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ALLOTMENT OF MARKS

- PART—A : Introductory Microeconomics

Q. No. 1 carries I mark each : Ix6= 6
Q. No. 2 carries 2 marks each : 2x6 = 12
Q. Nos. 3-6 carry 4 marks each : 4x4 = 16
Q. No. 7 carries 6 marks : = 6
PART—B : Statistics for Economics
Q. No. 8 carries 1 mark each 2 Ix6= 6
Q. No. 9 carries 2 marks each : 2x6 = 12
Q. Nos. 10-13 carry 4 marks each : 4x4 = 16
Q. No. 14 carries 6 marks : = 6
' Total = 80
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PART—A
Rer—=
Fer—=
AEF—Th
( Introductory Microeconomics )

(SRR BT «Rww )
(TR TR «ifte )
( o@’ vent fafrmty Rty )
1. Answer the following as directed :
s e RetiepIR Ses fu

ot FefiResfr ey me -
MEEE THEHRE e &

(a) Define utility.
Torgaifarers e fa |
TS SR WS |
aRERIR JERTE 8

(b) What is budget line?
ACHB (I B2
ACEH AN 2
TarasTi Rt =r?

(c) Draw a perfectly elastic demand curve.
a1 = FefSerore sk e e = | |
M o RfSmere vk @3 o 3 |
3 S AEEEAE fomr wen grEl nfal
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1x6=6

(3)

(d) State the law of supply.

(e)

R R Seae F41 |
e RiE% Beae e |
STt @R 7@’ |
TC =TVC +
( Fill in the blank )
( R 3R o7 390 )
( *FUEIR o@ TN )
( el S AT W™ )
What is meant by equilibrium price?
TR 71 e 7 e 2
SRR ¥4 JETCS B QAR 2

TR S8 Feree 71 JRm?

2. Answer the following questions : ' 2x6=12
oY AT Tag fua -
e eryefr Ter ws :
e drRR R @

(@)
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Write two differences between micro- and macro-
economics. 2

R o S wRemT Wow 751 onef fora |

e @) i wrefRencTR T 5 o e

@ TEY TR YR TR A aHE 2T s RR)
Or / 1331 / &1 / Tt

State two characteristics of production possibility
curve.

Teofma STSIRT (IR Yo! LIy Teaw w4 |
ST SSRTS! AE o (3 Sraw v
fgrums somam @En grRE WA smga T |
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( 4)
(b) Define :
e famy
& WIS
ﬁ'ﬁﬁ’ﬂq B ‘
(i Microeconomics () Opportunity cost
IR =LA F QLRS!
- IR RS KGR
v’ Ef WA @

Or / 931 / {1/ 1

Write any two central problems facing an economy.

SRS @ TR 1 R A 1 R T s
<5 SRR T 2 @ P! B CFH T A |

TR TRy S-S e J e S e

(c)

/426

State the law of diminishing marginal utility.
FRPWR 21fdF Tercairer R Tad 1 !
FRP 21 Seafrer Rl Soard 9o |
HER G e T T |

Or / &%d1 / &1/ 1
A 20% fall in the price of a commodity leads to 25%
increase in demand. Calculate the price elasticity of
demand.
7 SBR TNE 20% ZET WA vfEw 25% I F 1 oA @
RfSgerrer siom 341 1
<% TEAR WA 20% T Ty vim 25% IR w1 ol
RfSgreree! a1 T |
Jare AR A 20% v A Red 25% siEE At
+T AT 9 g |

1+1=2

2

/426

(d) Define production function. Write one feature of it.

(e)

(§)

1+1=2
B TR A WA | 2WF 9GO I8 By

TBRAAV TR IR W16 | @7 G IR e |

g T (@) f e @1 3R 9l amgen fw

Or / 93RT / 9{T / T&r

Write two differences between fixed cost and variable
cost.
2

&9 I W% RIS I7R AW 51 <Nl B |
&7 3 =R R IR W 75 N o |
& T 3 Wi S R 2 R RR)

Define monopoly market. State one feature of it.
1+1=2

qmmwamﬁmlimmmwwl
GO ASICIT SR 718 | 93 GG 037 Sy ¢qn |
TG A TR YHETE € 9f A g W' |

Or / 9%31 / Q%1 / e

Write two assumptions of perfect competition. 2

1 2RISR T o1 SRren oy |
off =fScafoTenE I 1 SRR e |

‘a@mmﬁﬁmfml
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(6)

(/ Explain the chain of effects of excess supply on
equilibrium price.

SIS WS 8RS TSRS (TN 1 dORT IO FA 1
RPN WA TR SRS (eI e ooReE i A |
TR N g siEE st Sk i @)

Or / 9[T / %3 / &1

Distinguish between price ceiling and price floor.

TS T S =i RE Ham e ondss o
AR O% Fi @32 WY SR T0w o1 e |
SO M R 3R TewE R wre for)

3. State and explain the law of demand with the help of a
demand schedule and a curve.

a3 SRW PP WE 9eE @9R RS Bt Rigwr Sy e
G 1 ‘ ,
T SR PR @32 @B @R e iR RRG Ty T ok
TR FAI N -

AR frm R IR 3R T g YeEE Rt e v@ R
Erecd

Or / 9%31 / 9/ Tl

Define price elasticity of demand. What are the methods of
measuring price elasticity of demand?
oii3TR v R ik fn | viftv w1 RfSgrRe (R omienz
e fe2 |

PR 7 RRTrReR Sk we | tiRwR 7 RfeTee e orafee
A

ATy 307 AR ghieAE 8| Remf 387 aE gAE STeEER

a1 |1e
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1+3=4

(7))

. Explain the law of variable proportion with the help of

diagram. 4
ARISTNA Sgore RiYCH Baprz T w41 |
RIS e RS g 2 e |
Hiam] degusf @i aEmiet @T)
Or / Q{1 / 91 / w&r

Define AP and MP. Write two relationships between
AP and MP. 1+1+2=4

AP 51F MP3 kel 731 | AP S MPR W11 W51 7o <1 |

AP @33 MP3 &I %18 | AP 38 MPR 41 fb S0 ¢aiedt |
AP 3Rt MP {3 g5 g1 AP Rt MP f iR o) 9 Ry

. Discuss how the market supply curve is derived from the

individual supply curve. 4
ISTS @A @R [ (WA TN Q@R @ =T IR AR,
HICADAT 41 |

IYfST® @ @ (AF Fred TG QAN @Y =T TS A1,
HICADA I |

TR S 6 SENEE ek B9R S O sreE we
(zﬁaraﬁ)m’tml ‘

Or / 9331 / 971 / q&r

Explain any four determinants of the market supply of a
commodity.

¥ 9o I @EE R @I 5[5 Rdies < 30
G3f6 WA ISR AN @ @A TR N a0 1 |
a1 HFRT §1UTE STEAER SRS A fr areme) @)
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6. Explain freedom of entry’ and ‘exit of firms’ features of
perfect competition. 4

o AP TwRe ‘PP IF o WF TS AT
[SRai IR

of afScivorEe WA aﬁmﬁag@m IR T& 27 -9
caErefer T I

mwﬁmmmmﬂﬂﬁrﬁmmwﬂaﬁ@mﬁ
ITGATEE YQT | |

Or / 911 / {1 / &

With the help of demand and supply schedule, explain the
meaning of excess demand and its effect on price of a
commodity. - 3+1=4

ORI WF T PP TRRe SRRt WY W TR A @b
99 8] 2]1 2 [ F41 4

I GRR TR SEPHR e SfRE TR we ¢3R @7 @3 NI
WA T 21 &I [ FCA |

ﬁmmmﬁwnmmmﬁﬁ:ﬁ%mmwﬁmﬁaﬁﬁm%ﬁm
TR 3/ wrrE e e 389 |

7. What is an indifference curve? What are its main
properties? Explain. 2+4=6

et @y 7 29" 24W [MBaE & &2 I 30

@eors vt 2 @7 ayA RS F F o ww F@)
TR g graen w17 S TER SIRGARER W W7 FEd |

/426

(9)

Or / SI%71-/ G837 / Tl

What is consumer equilibrium? Explain consumer
equilibrium in case of a single commodity with the help of
a utility schedule. 1+5=6

TorereR) SIel 2 9Bl R (FaS TSR SNl (FELT AIS
41 2, Soiave! PP STERS A 4 |

Toere” SRPSl 917 936 TER O THTSIER SRPIel o1
o T W, SoNe! SEpipi A FI T |

mmm?mwmmﬁmmwm
SRRy IR HrEE e

PART—B
Rer—
Rem—

AEEN—&

( Statistics for Economics )
(ieftTiEs +iRemea )
(wetafes =fmeam )

(dEnfafy evema wAmeygm i )

. Answer the following questions : 1x6=6

oo PP e fn

Fafele exefer Tog we :

e SHEERR AR &

(a) Who is known as the father of statistics?
@E e I ReEmR g f2piee s T 2
@R IR« Ry s o e 3w 2
) gyE gy Riffam fer ey iy s
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(b)

(c)

(d)

/426

( 10 )

Write any one importance of statistics in economics.
FefRErre AR R @ 9br ey o

HARSE ~RRIR @ @I 936 SFF Gl |

TEnf fftrerme aregat srfasmen 2@ T Rl

Write one difference between census and sample
survey.

e S T Ao A b1 o3

TSI 9% YA SR G Gf6 YT o0 |
g arE R Ry il eige JFd wre i

What is the full form of NSSO?
NSSOJ = Foichl ¥ 2

NSSO-«q 79 Feifs $ 2

NSSO-f g weq =r?

Find out the arithmetic mean from the following data :
o SUPTEA 1 AR o1 Rl
fAmerte SYPmR (AT A1fAfes ste ey et
TR ERERFHR areEr-e Yoy &g :
3,5,7,9 11

State one advantage of median.
WYNR @1 JRY TEY F41

TR @3f6 R BCEY FAT |

oy A Gy 7G|

9. Answer the following questions :

(11 )

2x6=12

O 2pPTRS Tes
fafiRe eryefem Teg s
MMM SigeR feam &

(a) Write two characteristics of statistics. 2

(b)

/426

“f RS o1 (B3 foan |
AR 75 3R corean
AARRYATT AR g for)
| Or / &%d1 / W%l / T&l
Define statistics in plural and singular sense. 1+1=2
TRG F GIF S AR A a1
GIRF GR 9FF S ARPRYE Tk 718 |
ASTR AR AT AR FHERGAA FHIGTE | |

Write two differences between primary data and
secondary data. 2

RIEEACHAC SN ILACRIS R T R R R T

AT o GIR AT S T Y6 NI @

TR @i IR AfY @R R w9 wwr fowy
Or/W/ﬁr‘Wr/an

Mention two sources of secondary data.

¢t U Y51 T AN STEy 4 |

¢Sl oe/ b BRI Sray e |

AR TR A gErf g wE’ |
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(12 ) (13 )
(c) What is bar diagram? State one feature of it. 1+1=2 Or / %31 / 91 / q&r
ve fBa 2 TR @1 cafey SeEe o4 | ‘ Write two uses of index number.
we f5a 92 97 o3l = Soay T | " ~ S5 SRYA 161 9] ran 1
e SgremiE w? 3 A g T | ‘
T WA 6 IR A
Or / @[l / &%[1 / T HIRR SAREERR WY ST /R
]?eﬁne histogram and frequency polygon. 1+1=2 (/ Mention two importances of correlation. 2
R e Al TRyes i R | ' SRR I QFY S 90 |
MQQRWWWSI@WGI. o TRTIER 15 e S I |
YR Srarri T TRmdE S e g € .
| RIS FRRf TS AR T’ |
(d) Define arithmetic mean. Mention one property of the ' :
arithmetic mean. ' 2 Or /31 / &1 / Tt
SRS oo St i | SRS aToq 51 CaAE) BTE 9 | - What do you mean by index number of industrial
. v i rod . :
MR sicwa i 716 | SRS sicww b CafHies STwe A | production? y
TR AR geeE B amETRETR AR W AR » TR Seotmara o755 Tl Jo 3 ot 2
| ~ | S BeoireTa ST T S QT 2
Or / @31 / %31/ G SRR fgremg EIRRY gt 1 ghw?
Mention two main objects of an average. 10. 1“1/;1;?121 is diagrammatic presentation? Discuss the
ness and limitations of dia ti tati
oo ’iﬁ S | of deen a » grammatic presenta 1;)23’:4
MY STy FCAl |
7 2w ST A IR Torgrem 3 7 v BRI SR SorrRe W SRRTS! ST
UHER (7e)fy W ey fenifa v’ | 01
(e) Mention any two merits of mode. 2 ol Torglom 10 R BaR T Togifier ¥R SiRme! ScEna
I R @I w51 SR Soay 40 | A
TP @ N Y5 R4 Sy I | | R RfRgm m? e wemi R e o) Refe
STy STrfasmn 26 @rg w7’ | AR |
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{ 14 )
Or / 54 / q< / T T

Define variable. Distinguish between discrete and
continuous variable.

o ket Tt | Riftw oo e iR ee e A1 (ryed |
FOCR KW Wi | Riven T 933 SRfra 5o g N e |

WW'@I@@WMWWW
ToRA wre R :

11. Define correlation. Mention the degrees of correlation.

1+3=4

TR kel i | ST WapR o |
TR S WS | STTICH Nl eIl |

mmﬁmauﬁm@ﬁﬁﬁ%&(ﬁﬁ)—m
R

Or / 931 / 9% / T

Explain the meaning and importance of index number.

BT RS Y SF FGI RI A 90 |
o YR B R GFegd [R{w J I )
HIREY ARmf oA o) MR S S|

12. What is scatter diagram? Give any three merits of it.

RfFre g omfs R 2 TR R e fofen 7R f |
Rf¥rel B orafe M2 @7 @ @ Foafs R4 e |
R TR W W17 S strafaen deem Erg Rl
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1+3=4

( 15 )

Or / 931 / 9<1 / &1

Find out the value of Karl Pearson’s coefficient of
correlation of the following : 4

o SRR 1 T P o @i Refs 1 ¢
AR SR (AT I PrREEe TomE 891 R 3@ :
MRt i et Rt TR e e R

X 65 | 66 | 67 | 67 | 68 69 70 72
Y 67 | 68 | 65 | 68 | 72 72 69 71

1+3=4

. Write short notes on : 2+2=4

12 o1l fora

e BT Coe

g7 Wy

(a) Consumer price index
OSSR 79 PR
SISO 7 TR
SET ST HIREY

(b) Wholesale price index
ARFIN 7T PIRF
AEFR 77 IH
HIFHIN S8 FIify

Or / &%3r / w331 / gar

Point out four important limitations of index numbers. 4
5T R BIR0 SPIF Rt Seay w41 |

5T TROF TR AP RRe! Sy w7 |

HIREY SRR WS MR Renfre o’ |
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14, What do you mean by central tendency? What are the
essentials of a good measure of central tendency? Explain.

1+5=6
@R TeR W JPrE R @2 e (FEN ATTOR TPH 2SI
o & R 2 o 0
@EN RTOH YW e H @R W FEW 2RUeR WM
sicERIToISE F F 2 0w A
fore Tt geee W gRwE? T T e Arainsf s gty e
T AT JE |

Or/*%%W/’WWW7’¢W

Calculate the arithmetic mean, median and mode from the
following frequency distribution :

woTe foal qRcIel Rt o[ A sre, T w1 I [ 1
fRufeie arsaRel R (e Miafs 1%, I @32 323 efy e

TR

g
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Class Interval Frequency
QI ST I
QYN ST S ERER]
o AR T TR

1-3 3
3-5 10
5-7 16
7-9 13
9-11 8
11-13 o
13-15 1

* & %

2+2+2=6

24C



